# THE ELASTIC EQUILIBRIUM OF AN INFINITE, TRANSVERSELY ISOTROPIC BODY, WEAKENED BY AN INTERNAL FLAT CIRCULAR CUT 

(UPRUGOE RAVNOVECIE NEOGRANICHENNOGO TRANSVERSAL'NOIZOTROPNOGO TELA, OSLABLENNOGO VNUTRENNIM PLOSKIM KRUGOVYM RAZPEZOM)

P UM Vol. 30, No. 3, 1966 pp 579-583
R. Ia. SUNCHELEEV
(Tashkent)
(Received August 10, 1965)

The paper studies the deformation, symmetrical about the plane $z=0$, of an in finite transversely isotropic body containing an internal flat circular slot. The same problem for an isotropic medium has been investigated by a different method in [1].

1. Suppose that an infinitely thin flat circular slot $z=0, r \leqslant a$ is located with its centre at the origin of co-ordinates in an infinite transversely isotropic space (see figure). Suppose that an external load is applied to the surface of the
 slot. The boundary conditions are then

$$
\begin{gather*}
\left.\tilde{z}_{z}\right|_{z=0}=\left.\sigma_{z}\right|_{z=-0}=\sigma(r, \varphi) \quad(r<a)  \tag{1.1}\\
\left(\tau_{r z}+\tau_{\varphi z}\right)_{z=+0}=-\left(\tau_{r z}+i \tau_{\phi:}\right)_{z=-0}=\tau_{1}(r, \varphi)(r<a) \\
\left(\tau_{r z}-i \tau_{\varphi z}\right)_{z=-0}=-\left(\tau_{r z}-i \tau_{q z}\right)_{z=-0}=\tau_{2}(r, \uparrow) \quad(r<a)
\end{gather*}
$$

Symmetry at the section $z=0$ leads to the further conditions

$$
\begin{equation*}
\left.U_{3}\right|_{z=0}=0 \quad(r>a), \quad\left(\tau_{r_{i}} \pm i \tau_{\varphi z}\right)_{z=0}=0 \quad(r>a) \tag{1.2}
\end{equation*}
$$

It will be shown later that it is expedient to introduce complex stress components; this is associated with the proposed method of solution.

If we consider that the plane $z=0$ divides the space into two half-spaces, we can reduce the problem to two boundary-value problems.
(A). For the half-space $z \geqslant 0$

$$
\begin{align*}
& Ј_{z}{ }_{z-0}=\sigma(r, \varphi) \quad(r<a),\left.\quad U_{3}\right|_{z=0}=0 \\
& \left(\tau_{r z}+i \tau_{\varphi z}\right)_{z=0}=\tau_{1}(r, \varphi)=\left\{\begin{array}{cc}
n & (r>a) \\
\tau_{1}(r, \varphi) & (r<a)
\end{array}\right. \\
& \left(\tau_{r z}-i \tau_{\varphi z}\right)_{z=0}=\tau_{2}(r . q)=\left\{\begin{array}{cc}
0 & (r>a) \\
\tau_{2}(r, \varphi) & (r<a)
\end{array}\right. \tag{1.3}
\end{align*}
$$

(B). For the half-space $z \leqslant 0$

$$
\begin{align*}
& \left.\sigma_{z}\right|_{z=0}=\left.\sigma(r, \varphi) \quad(r<a) \quad U_{\mathfrak{s}}\right|_{z=0}=0 \\
& \left(\tau_{r z}+i \tau_{\varphi z}\right)_{z=0}=-\tau_{1}(r, \varphi)=\left\{\begin{array}{cc}
0 & (r>a) \\
-\tau_{1}(r, \varphi) & (r<a)
\end{array}\right.  \tag{1.4}\\
& \left(\tau_{r z}-i \tau_{\varphi:}\right)_{z=0}=-\tau_{1}(r, \varphi)=\left\{\begin{array}{cc}
0 & (r>a) \\
-\tau_{2}(r, \varphi) & (r<a)
\end{array}\right.
\end{align*}
$$

Assuming that the boundary functions can be expanded in a Fourier series in $\varphi$ and allow a Hankel integral transform in $r$, the boundary-values problems ( $A$ ) and ( $B$ ) lead to well-known dual integral equations which have an exact solution.

The functions of the problem are obtained by the method of total separation of variables in the system of equations of the theory of elasticity for a transversely isotropic medium.
2. In [2] the author has used the proposed method to derive certain general expressions for the elastic displacements of a transversely isotropic heterogeneous medium. The same method was used in [3] to obtain a class of solutions to the static equations of the theory of elasticity for a transversely isotropic homogeneous medium. We start from the familiar generalized Hooke's law [4] for a homogeneous transversely isotropic medium

$$
\begin{align*}
\sigma_{x} & =a_{11} \frac{\partial U}{\partial x}+a_{12} \frac{\partial V}{\partial y}+a_{13} \frac{\partial W}{\partial z}, & \tau_{x z} & =a_{55}\left(\frac{\partial W}{\partial x}+\frac{\partial U}{\partial z}\right) \\
\sigma_{y} & =a_{12} \frac{\partial U}{\partial x}+a_{11} \frac{\partial V}{\partial y}+a_{13} \frac{\partial W}{\partial z}, & \tau_{y z} & =a_{55}\left(\frac{\partial W}{\partial y}+\frac{\partial V}{\partial z}\right)  \tag{2.1}\\
\sigma_{z} & =a_{13}\left(\frac{\partial U}{\partial x}+\frac{\partial V}{\partial y}\right)+c_{33} \frac{\partial W}{\partial z}, & \tau_{x y} & =a_{66}\left(\frac{\partial U}{\partial y}+\frac{\partial V}{\partial x}\right)
\end{align*}
$$

Here $\sigma_{s}$ are the normal stresses, $\tau_{s_{2}}$ are the shear stresses, $U, V$ and $W$ are the components of displacement along the co-ordinate axes and $a_{11}-a_{12}=2 a_{66}$.

By substituting the values of stresses into the Cauchy system of equilibrium equations, we obtain the elasticity equations in displacements

$$
\begin{gather*}
a_{60}\left(\frac{\partial^{2} U}{\partial x^{2}}+\frac{\partial^{2} U}{\partial y^{2}}\right)+a_{55} \frac{\partial^{2} U}{\partial z^{2}}+\frac{\partial}{\partial x}\left[\frac{a_{11}+a_{12}}{2}\left(\frac{\partial U}{\partial x}+\frac{\partial V}{\partial y}\right)+\left(a_{13}+a_{55}\right) \frac{\partial W}{\partial z}\right]=0 \\
a_{56}\left(\frac{\partial^{2} V}{\partial x^{2}}+\frac{\partial^{2} V}{\partial y^{2}}\right)+a_{55} \frac{\partial^{2} V}{\partial z^{2}}+\frac{\partial}{\partial y}\left[\frac{a_{11}+a_{12}}{2}\left(\frac{\partial U}{\partial x}+\frac{\partial V}{\partial y}\right)+\left(a_{13}+a_{55}\right) \frac{\partial W}{\partial z}\right]=0  \tag{2.2}\\
a_{55}\left(\frac{\partial^{2} W}{\partial x^{2}}+\frac{\partial^{2} W}{\partial y^{2}}\right)+a_{33} \frac{\partial^{2} W}{\partial z^{2}}+\left(a_{13}+a_{55}\right) \frac{\partial}{\partial z}\left(\frac{\partial U}{\partial x}+\frac{\partial V}{\partial y}\right)=0
\end{gather*}
$$

Using cylindrical coordinates and replacing the displacements with new functions defined by the formulas

$$
\begin{equation*}
U=\frac{1}{2}\left(e^{i \varphi} U_{1}+e^{-i \gtrdot} U_{2}\right), \quad V=-\frac{i}{2}\left(e^{i \varphi} U_{1}-e^{-i \varphi} U_{2}\right), \quad W=U_{3} \tag{2.3}
\end{equation*}
$$

we obtain a system of equations in $U_{l}$

$$
\begin{gather*}
a_{66}\left(\frac{\partial^{2}}{\partial r^{2}}+\frac{1}{r} \frac{\partial}{\partial r}+\frac{1}{r^{2}} \frac{\partial^{2}}{\partial \varphi^{2}}+\frac{2 i}{r^{2}} \frac{\partial}{\partial \varphi}-\frac{1}{r^{2}}\right) U_{1}+a_{55} \frac{\partial^{2} U_{1}}{\partial z^{2}}+\left(\frac{\partial}{\partial r}+\frac{i}{r} \frac{\partial}{\partial \varphi}\right)\left\{\frac{a_{11}+a_{12}}{4} \times\right. \\
\left.\left.\times\left[\frac{\partial}{\partial r}-\frac{i}{r} \frac{\partial}{\partial \varphi}+\frac{1}{r}\right) U_{1}+\left(\frac{\partial}{\partial r}+\frac{i}{r}-\frac{\partial}{\partial \varphi}+\frac{1}{r}\right) U_{2}\right]+\left(a_{13}+a_{55}\right) \frac{\partial U_{3}}{\partial z}\right\}=0 \tag{2.4}
\end{gather*}
$$

$$
\begin{gathered}
a_{68}\left(\frac{\partial^{2}}{\partial r^{2}}+\frac{1}{r} \frac{\partial}{\partial r}+\frac{1}{r^{2}} \frac{\partial^{2}}{\partial \varphi^{2}}-\frac{2 i}{r^{2}} \frac{\partial}{\partial \varphi}-\frac{1}{r^{2}}\right) U_{2}+a_{55} \frac{\partial^{2} U_{2}}{\partial z^{2}}+\left(\frac{\partial}{\partial r}-\frac{i}{r} \frac{\partial}{\partial \varphi}\right) \times \\
+\left\{\frac{a_{11}+a_{12}}{4}\left[\left(\frac{\partial}{\partial r}-\frac{i}{r} \frac{\partial}{\partial \varphi}+\frac{1}{r}\right) U_{1}+\left(\frac{\partial}{\partial r}+\frac{i}{r} \frac{\partial}{\partial \varphi}+\frac{1}{r}\right) U_{2}\right]+\left(a_{13}+a_{55}\right) \frac{\partial U_{3}}{\partial z}\right\}=0 \\
a_{55}\left(\frac{\partial^{2}}{\partial r^{2}}+\frac{1}{r} \frac{\partial}{\partial r}+\frac{1}{r^{2}} \frac{\partial^{2}}{\partial \varphi^{2}}\right) U_{3}+a_{33} \frac{\partial^{2} U_{3}}{\partial z^{2}}+ \\
+\frac{a_{13}+a_{55}}{2} \frac{\partial}{\partial z}\left[\left(\frac{\partial}{\partial r}-\frac{i}{r} \frac{\partial}{\partial \varphi}+\frac{1}{r}\right) U_{1}+\left(\frac{\partial}{\partial r}+\frac{i}{r} \frac{\partial}{\partial \varphi}-1 \frac{1}{r}\right) U_{2}\right]=0
\end{gathered}
$$

The following simple relation holds between the displacement components along the cylindrical coordinate axes and the functions $U_{l}$

$$
\begin{equation*}
U_{1}=U_{r}-i U_{\varphi}, \quad U_{2}=U_{r}+i U_{4}, \quad U_{3}=W \tag{2.5}
\end{equation*}
$$

The formulas which relate the stress components $\sigma_{z}$ and $\tau_{r z} \pm i \tau_{\varphi z}$ to the function $U_{l}$ are

$$
\begin{align*}
\sigma_{z} & =a_{33} \frac{\partial U_{3}}{\partial z}+\frac{a_{13}}{2}\left[\left(\frac{\partial}{\partial r}-\frac{i}{r} \frac{\partial}{\partial \varphi}+\frac{1}{r}\right) U_{1}+\left(\frac{\partial}{\partial r}+\frac{i}{r} \frac{\partial}{\partial \varphi}+\frac{1}{r}\right) U_{2}\right]  \tag{2.6}\\
\tau_{r z}+i \tau_{\varphi 2} & =a_{55}\left[\frac{\partial U_{1}}{\partial z}+\left(\frac{\partial U_{3}}{\partial r}+\frac{i}{r} \frac{\partial U_{3}}{\partial \varphi}\right)\right], \quad \tau_{r z}-i \tau_{\varphi z}=a_{55}\left[\frac{\partial U_{2}}{\partial z}+\left(\frac{\partial U_{3}}{\partial r}-\frac{i}{r} \frac{\partial U_{3}}{\partial \varphi}\right)\right]
\end{align*}
$$

We seek a particular solution to (2.4) in the form

$$
\begin{equation*}
U_{1}=J_{k+1}(\alpha r) X_{1}(z) e^{i k \varphi}, \quad U_{2}=J_{k-1}(\alpha r) X_{2}(z) e^{i k \varphi}, \quad U_{3}=J_{k}(\alpha r) X_{3}(z) e^{i k \varphi} \tag{2.7}
\end{equation*}
$$

Substitution of (2.7) into (2.4) Ieads immediately to a system of ordinary differential equations

$$
\begin{gather*}
a_{55} x_{1}^{\prime \prime}-\left(a_{11}-\frac{a_{11}+a_{12}}{4}\right) \alpha^{2} x_{1}+\frac{a_{11}+a_{12}}{4} \alpha^{2} x_{2}-\left(a_{13}+a_{55}\right) \alpha x_{3}^{\prime}=0 \\
a_{55} x_{2}^{\prime \prime}-\left(a_{11}-\frac{a_{11}+a_{12}}{4}\right) \alpha^{2} x_{2}+\frac{a_{11}+a_{12}}{4} \alpha^{2} x_{1}+\left(a_{18}+a_{55}\right) \alpha x_{3}^{\prime}=0  \tag{2.8}\\
a_{33} x_{9}^{\prime \prime}-a_{55} \alpha^{2} x_{3}+\frac{a_{18}+a_{55}}{2} \alpha\left(x_{1}^{\prime}-x_{2}^{\prime}\right)=0
\end{gather*}
$$

We express the characteristic numbers in the form

$$
\pm \alpha \lambda_{1}, \quad \pm \alpha \lambda_{3} \quad \pm \alpha \lambda_{5}
$$

Here $\lambda_{l}$ are the positive roots of the equation

$$
\begin{gather*}
\left(a_{55} \lambda^{2}-a_{86}\right)\left[a_{33} a_{55} \lambda^{4}-\left(a_{11} a_{33}+2 a_{13} a_{65}-a_{13}^{2}\right) \lambda^{2}+a_{11} a_{55}\right]=0  \tag{2.9}\\
\lambda_{1}^{2}=a_{66} / a_{55} \\
\lambda_{3}^{2}=\frac{1}{2 a_{55} a_{39}}\left\{a_{11} a_{33}+2 a_{13} a_{55}-a_{13}{ }^{2}+\sqrt{\left(a_{11} a_{33}^{2}+2 a_{13} a_{55}-a_{13}\right)^{2}-4 a_{11} a_{93} a_{55}^{2}}\right\}  \tag{2.10}\\
\lambda_{5}^{2}=\frac{1}{2 a_{55} a_{39}}\left\{a_{11} a_{39}+2 a_{13} a_{55}-a_{13}{ }^{2}-\sqrt{\left(a_{11} a_{33}{ }^{2}+2 a_{13} a_{55}-a_{13}^{2}\right)^{2}-4 a_{11} a_{33} a_{55}^{2}}\right\}
\end{gather*}
$$

For these characteristic numbers the most general solution of (2.4) can be written as

$$
\begin{equation*}
U_{1}=\sum_{k=-\infty}^{+\infty} e^{i \hbar \varphi} \int_{0}^{\infty} J_{k+1}(\alpha r) \sum_{l=1,3,5}\left(C_{l} e^{\alpha \lambda_{i} z}+C_{l+1} e^{-\alpha \lambda_{l} z}\right) d \alpha \tag{2.11}
\end{equation*}
$$

$U_{z}=\sum_{k=-\infty}^{+\infty} e^{i k \varphi} \int_{0}^{\infty} J_{k-1}(\alpha r)\left\{C_{1} e^{\alpha \lambda_{1} z}+C_{2} e^{-\alpha \lambda_{1} z}-\sum_{l=3,5}\left(C_{l} e^{\alpha \lambda_{l} z}+C_{l+1} e^{-\alpha \lambda_{l} z}\right)\right\} d \alpha$

$$
U_{\mathrm{s}}=\sum_{k=-\infty}^{+\infty} e^{i k \varphi} \int_{0}^{\infty} J_{k}(\alpha r) \sum_{l=3,5} \frac{a_{55} \lambda_{l}^{2}-a_{11}}{\lambda_{l}\left(a_{13}+a_{55}\right)}\left(C_{l} e^{\alpha \lambda_{l} z}-C_{l+1} e^{-\alpha \lambda_{l} z}\right) d \alpha
$$

Substituting the values of the $U_{l}$ into (2.6) yields

$$
\begin{align*}
& \sigma_{z}=\sum_{k=-\infty}^{+\infty} e^{i k \varphi} \int_{0}^{\infty} \alpha J_{k}(\alpha r)\left\{\sum_{l=3,5}\left[\frac{a_{3 s}\left(a_{55} \lambda_{l}^{2}-a_{11}\right)}{\left(a_{13}+a_{55}\right)}+C_{13}\right]\left(C_{l} e^{\alpha \lambda_{l} l^{z}}+C_{l+1} e^{-\alpha \lambda_{l} z}\right)\right\} d \alpha \\
& \tau_{r z}+i \tau_{\varphi q}=a_{55} \sum_{k=-\infty}^{+\infty} e^{i k \varphi} \int_{0}^{\infty} \alpha J_{k+1}(\alpha r)\left\{\alpha_{l}\left(C_{1} e^{\alpha \lambda_{1} z}-C_{2} e^{-\alpha \lambda_{1} z}\right)+\right. \\
&\left.+\sum_{l=3,5} \frac{a_{13} \lambda_{l}^{2}+a_{11}}{\lambda_{l}\left(a_{1 s}+a_{55}\right)}\left(C_{l} e^{\alpha \lambda_{l} l^{2}}-C_{l+1} e^{-\alpha \lambda_{l} z}\right)\right\} d \alpha  \tag{2.12}\\
& \tau_{r z}-i \tau_{\varphi \varphi}=a_{55} \sum_{k=-\infty}^{+\infty} e^{i k \varphi} \int_{0}^{\infty} \alpha J_{k-1}(\alpha r)\left\{\lambda_{1}\left(C_{1} e^{\alpha \lambda_{l} z}-C_{2} e^{-\alpha \lambda_{1} z}\right)-\right. \\
&\left.-\sum_{l=3_{3}} \frac{a_{13} \lambda_{l}^{2}+a_{11}}{\lambda_{l}\left(a_{13}+a_{55}\right)}\left(C_{l} e^{\alpha \lambda_{l} z}-C_{l+1} e^{-\alpha \lambda_{l} z}\right)\right\} d \alpha
\end{align*}
$$

3. From now on we shall assume that the boundary functions can be expanded in a Fourier series in $\varphi$ and allow a Hankel integral transform in $r$. With these assumptions we can solve the following more general mixed boundary-value problem for a transversely isotropic elastic half-space $x_{3} \geqslant 0$ with the boundary conditions

$$
\begin{gather*}
\left.U_{3}\right|_{z=0}=U(r, \varphi)=\sum_{k=-\infty}^{+\infty} U_{k}(r) e^{i k \varphi} \quad(r>a)  \tag{3,1}\\
\left.\sigma_{z}\right|_{z=0}=\sigma(r, \varphi)=\sum_{k=-\infty}^{+\infty} \sigma_{k}(r) e^{i k \varphi} \quad(r<a) \\
\left(\tau_{r z}+i \tau_{\varphi z}\right)_{z=0}=\tau_{1}(r, \varphi)=\sum_{k=-\infty}^{+\infty} e^{i k \varphi} \int_{0}^{\infty} d \tau_{1 k}^{0}(\alpha) J_{k+1}(\alpha r) d \alpha \\
\left(\tau_{r z}-i \tau_{\varphi z}\right)_{z=0}=\tau_{2}(r, \varphi)=\sum_{k=-\infty}^{+\infty} e^{i k \varphi} \int_{0}^{\infty} d \tau_{2 k}^{0}(\alpha) J_{k-1}(\alpha r) d \alpha \tag{3.2}
\end{gather*}
$$

To solve this problem we shall use Formulas (2.11) and (2.12), putting $C_{l}=0(l=1$, 3,5). Having satisfied the boundary conditions (3.1) and (3.2) we obtain a system of equations for determining $C_{l+1}$, which we write in the expanded form

$$
\begin{gather*}
\int_{0}^{\infty} J_{k}(\alpha r)\left\{\frac{a_{55} \lambda_{8}^{2}-a_{11}}{\lambda_{9}\left(a_{13}+a_{55}\right)} C_{4}+\frac{a_{55} \lambda_{5}^{2}-a_{11}}{\lambda_{5}\left(a_{13}+a_{55}\right)} C_{6}\right\} d \alpha=-U_{k}(r) \quad(r>a) \\
\int_{0}^{\infty} \alpha J_{k}(\alpha r)\left\{\left[\frac{a_{33}\left(a_{55} \lambda_{3}^{2}-a_{11}\right)}{\left(a_{13}+a_{55}\right)}+a_{13}\right] C_{4}+\left[\frac{a_{33}\left(a_{55} \lambda_{5}^{2}-a_{11}\right)}{a_{13}+a_{55}}+a_{13}\right] C_{6}\right\} d \alpha=\sigma_{k}(r)  \tag{3.3}\\
-a_{55}\left\{\lambda_{1} C_{2}+\frac{a_{13} \lambda_{3}^{2}+a_{11}}{\lambda_{3}\left(a_{13}+a_{55}\right)} C_{4}+\frac{a_{13} \lambda_{5}^{2}+a_{11}}{\lambda_{5}\left(a_{13}+a_{55}\right)} C_{6}\right\}=\tau_{1 k}^{\circ}(\alpha) \tag{r<a}
\end{gather*}
$$

$$
a_{05}\left\{\lambda_{1} C_{2}-\frac{a_{13} \lambda_{3}^{2}+a_{11}}{\lambda_{3}\left(a_{13}+a_{55}\right)} C_{4}-\frac{a_{13} \lambda_{5}^{2}+a_{11}}{\lambda_{5}\left(a_{18}+a_{65}\right)} C_{6}\right\}=\tau_{2 k}^{0}(\alpha)
$$

For brevity we introduce the notations

$$
\begin{array}{rlrl}
m_{1}=\frac{a_{55} \lambda_{3}^{2}-a_{11}}{\lambda_{3}\left(a_{13}+a_{55}\right)}, & m_{2} & =\frac{a_{55} \lambda_{5}^{2}-a_{11}}{\lambda_{55}\left(a_{13}+a_{55}\right)} \\
n_{3} & \frac{a_{33}\left(a_{55} \lambda_{3}^{2}-a_{11}\right)+a_{13},}{\left(a_{13}+a_{55}\right)} & m_{4} & =\frac{a_{33}\left(a_{55} \lambda_{5}^{2}-a_{11}\right)}{\left(a_{13}+a_{55}\right)}+a_{13}  \tag{3.5}\\
\mu_{5}:-\frac{\left(a_{13} \lambda_{3}^{2}-a_{11}\right) a_{55}}{\lambda_{3}\left(a_{13}+a_{55}\right)}, & m_{6} & =\frac{\left(a_{13} \lambda_{5}^{2}+a_{11}\right) a_{55}}{\lambda_{5}\left(a_{13}+a_{55}\right)}
\end{array}
$$

We have from (3.4) that

$$
\begin{gather*}
C_{2}=-\frac{\tau_{1 k}^{*}(\alpha)-\boldsymbol{\tau}_{2 k}^{*}(\alpha)}{2 C_{55}}  \tag{3.6}\\
C_{4}=-\frac{m_{6}}{m_{5}} C_{6}-\frac{\tau_{1 k}^{*}(\alpha)+\tau_{2 k}^{*}(\alpha)}{2 m_{5}} \tag{3.7}
\end{gather*}
$$

By means of (3.7) we eliminate $C_{4}$ from (3.3) and thus obtain the dual integral equations

$$
\begin{gather*}
\int_{0}^{\infty} J_{k}(\alpha r) C_{6}(\alpha) d \alpha=f_{1}(r) \quad(r>a), \quad \int_{1}^{\infty} \alpha J_{k}(\alpha r) C_{6}(\alpha) d \alpha=f_{2}(r) \quad(r<a)  \tag{3.8}\\
f_{1}(r)=\frac{1}{m_{1} m_{6}-m_{2} m_{5}}\left\{m_{5} J_{k}(r)-\frac{m_{1}}{2} \int_{0}^{\infty}\left[\tau_{1 k}^{*}(\alpha)+\tau_{2 k}^{*}(\alpha)\right] J_{k}(\alpha r) d \alpha\right\} \\
f_{2}(r)=\frac{1}{m_{4} m_{5}-m_{3} m_{6}}\left\{m_{4} \sigma_{k}+\frac{m_{3}}{2} \int_{0}^{\infty}\left[\tau_{1 k}^{*}(\alpha)+\tau_{2 k}^{0}(\alpha)\right] J_{k}(\alpha r) d \alpha\right\}
\end{gather*}
$$

Assuming that $f_{1}(r) \equiv 0$, we obtain its Hankel transform for $r<a$ :

$$
\alpha g(\alpha)=\int_{a}^{\infty} f_{1}(r) J_{k}(\alpha r) d r
$$

Instead of $C_{6}(\alpha)$ we introduce a new unknown function $f_{k}(\alpha)$ by means of the formula

$$
\begin{equation*}
C_{6}(\alpha)=f_{k}(\alpha)+\alpha g(\alpha) \tag{3.9}
\end{equation*}
$$

and thus obtain the familiar dual integral equations

$$
\begin{gather*}
\int_{0}^{\infty} f_{k}^{\circ}(\alpha) J_{k}(\alpha r) d \alpha=0 \quad(r>a), \quad \int_{0}^{\infty} \alpha J_{k}(\alpha r) f_{k}(\alpha) d \alpha=F_{k}(r)(r<a)  \tag{3.10}\\
F_{k}(r)=\int_{0}^{\infty} \alpha^{2} g(\alpha) J_{k}(\alpha r) d \alpha+f_{2}(r) \tag{3.11}
\end{gather*}
$$

We quote the exact solution of the dual integral equations from the monograph [5]:

$$
\begin{equation*}
f_{k}^{\circ}(\alpha)=\frac{\sqrt{2 \alpha}}{\Gamma(1 / 2)} \int_{0}^{a} i^{1 / 2} J_{k+1 / 2}(t x) d t \int_{0}^{a} \frac{F_{k}(t \lambda) \lambda^{k+1}}{\sqrt{a^{2}-\lambda^{2}}} d \lambda \tag{3.12}
\end{equation*}
$$

Expressing $C_{4}(\alpha)$ and $C_{6}(\alpha)$ in terms of $f_{k}{ }^{\circ}(\alpha)$ and $g(\alpha)$ we obtain a solution to the problems in general form.

Returning to the problems (A) and (B), we easily see that they represent a particular case of the more general boundary-value problem solved in section 3 . When solving the problem (A) we assume $C_{l}=0(l=1,3,5)$ in formulas (2.11) and (2.12), while when solving the problem (B) we have $C_{l+1}=0$. Since in problems (A) and (B) $\left.U_{3}\right|_{z=0}=0$, the calculations are somewhat simplified.

## BIBLIOGRAPHY

1. Mossokovskii, V.I. Pervaia osnovnaia zadacha teorii uprugosti dlia prostranstva s ploskoi krugloi shchel'iu (The first fundamental prohlem of the theory of elasticity for a space with a flat circular slot). PMM Vol. 19, No. 4, 1955.
2. Suncheleev, R.Ia. Ob odnom metode resheniia nekotorykh kraevykh zadach teorii uprugosti ( On a method of solving certain boundary-value problems of the theory of elasticity). Nauchn. zap. L'vovsk. politekhn. in-ta. No. 30, ser. fiz-matem. n., No. 1, 1955.
3. Suncheleev, R.la. Reshenie nekotorykh kraevykh zadach dlia transversal'noisotropnoi sredy (Solution of certain boundary-value problems for a transversely isotropic medium). Izv. Akad. Nauk Uz. SSR. Ser. fiz.-matem, n., No. 3, 1965.
4. Leibenzon, L.S. Kurs teorii uprugosti (A course in the Theory of Elasticity). Gostekhizdat 1947.
5. Ufliand, Ia.S. Integral'nye preobrazovaniia v zadachakh teorii uprugosti (Integral Transforms in problems of the Theory of Elasticity). Izd-vo Akad. Nauk SSSR, 1963.
